# Vertical Division with a Helper Grid Name:
Solve each problem. Answers

1) 2) 3)

88[3476 68]6664 13[4704 -

4) 5) 6)

814293 25|14100 4411452 8.

7) 8) 9

2012650 3415213 11|7591

1-9 |89]|78]67[56]44[33[22[11] 0 |
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 39r44 2) 98 3) 361r11 39 ra4
88[3476 686664 13[4704 "
0 0 0 2 98
34 66 47
0 0 39 3. 361rl1l
347 666 80 . 53
264 612 78
836 544 24 5. 164
792 544 13
44 0 11 6 33
;. 132r10
4) 53 5) 164 6) 33
81[4293 25[4100 44(1452 s 153r11
0 0 0
42 41 14 0. 690r1
0 25 0
429 160 145
405 150 132
243 100 132
243 100 132
0 0 0
7) 132r10 8) 153r11 9) 690r1
20[2650 34[5213 117591
0 0 0
26 52 75
20 34 66
65 181 99
60 170 99
50 113 01
40 102 0
10 11 1
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